29.

31.

33.

35.

37.

39.

41.

coszsinz —sint =0 <« sinz(cosz—1)=0 <« sinz=0orcosz=1 <&
z = 0, m or x = 0. Therefore, the solutions are x = 0 and 7.

2sin’z — 5sinz +2=0 < (2sinz—1)(sinz—2)=0 <& sinz =  or sinz = 2 (which

is inadmissible) <« =z = %, 3. Thus, the solutions in [0, 27) are z = Z and 3.
2cos’z —Tcosz+3=0 < (2cosz—1)(cosz—3)=0 < cosz=3orcosz=3
T 5T

(which is inadmissible) < z = %, 57 Therefore, the solutions in [0, 27) are z = 33

. . . ) 1—cosz
“Note: z = 7 is not a solution because then the denominator is zero. 1T ooz =3 &
N xr
l—cosz=3+3cosz & —dcosz=2 & cosz=-3 & z=2, Tin|0,2n).

(factor by grouping) tan’z + tan’z —3tanz —3 =0 < (tanz+1)(tan’z-3)=0 <&

tanz = —lortanz = +£+/3 & az=%¥ Morg=1 20 4 5 Therefore, the solutions in
. — T 2n 31 4w Sm Tnm
[0, 271') are r = 3239 423°3° 4"
1 . 1—cosz . 1
tan sz + 2sin2z =cscz & ———— t+4sinzrcosz = —
sinz sinz

1—cosz+4sinzcosz =1 < 4sinzcosz—cosz=0 < cosz(4sinz—1)=0

& cosz=0orsinz=+§ & z=%%orz=1%, 3%, %, U1 Thus, the solutions in

6°6°6°
T w St Tm 3m 1llw
[0,27r)areac—3,5,——6,—6,—2,——6.

tanx+sec:c=\/§ + =v3 & sinz+1=+3cosz &

V3cosz—sinz=1 & -‘éﬁo’_-cosx—%sin:v=% & cosZcosz—sinisinz=3 &

cos(z+3) =1 & z+I=3T & z=1I ¥ Howeverz=¥is inadmissible

3
because sec <t 3” is undefined. Thus, the only solution is in [0, 27) is z = .



